N of reco track vs dxy(PV)

0.5f==r-=mn

N of reco track vs

—25-20-15-10 -5 0 5 10 15 20 2

5

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

0.

295750

0.5]

~15-16-5 0 5 10 15 20 2

516 15 20 25 5=25-15-10 -5 0 5 10 15 20 25

—— DQM_TT__mkFit_ BDT_
—— DQM_TT__mKkFit_

o6f-}+

1
-1-0.

5-0.6-0.4-0.

N of reco track vs dz(PV)

T

|
{8l
E»

N of associated (recoToSim) tracks vs dz(PV) |

+- .-

LR B ST T SO U U U T T
0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8

N of associated (recoToSim) looper tracks vs dz(PV)

N of associated (recoToSim) looper tracks vs dz(PV)




	Contents
	Page 1


